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BEFORE THE PUBLIC UTILITIES  

COMMISSION OF THE STATE OF CALIFORNIA 

QWEST COMMUNICATIONS COMPANY, LLC  
(U-5335-C)

                    Complainant, 
v.

MCIMETRO ACCESS TRANSMISSION SERVICES, 
LLC (U-5253-C), et al. 

                     Defendants. 

Case No.  C.08-08-006 

QWEST COMMUNICATIONS COMPANY LLC’S 
REQUEST FOR OFFICIAL NOTICE

Pursuant to Rule 13.9 of the Commission’s Rules of Practice and Procedure, Complainant 

Qwest Communications Company, LLC (“QCC”) respectfully requests that the Commission take 

official notice of the following: 

1. Colorado Public Utilities Commission – Recommended Decision of 

Administrative Law Judge G. Harris Adams on Remand.  On June 21, 2011, the Public Utilities 

Commission of the State of Colorado (“Colorado Commission”) issued the Recommended 

Decision of Administrative Law Judge G. Harris Adams on Remand in the parallel action 

brought by QCC against various competitive local exchange carriers (“CLECs”) before the 

Colorado Commission (the “RD on Remand”), a copy of which is attached hereto as Exhibit A.1

1  Many of the CLEC Defendants in the Colorado proceeding are the same as those in the action pending 
before this Commission.  For example, MCImetro, XO Communications Services, Inc., Ernest Communications, 
Inc., Granite Telecommunications, Inc., tw telecom, and BullsEye Telecom are Defendants/Respondents in both 
proceedings.  Also, affiliated CLECs ATI (California) and Eschelon (Colorado) are Defendants/Respondents in the 
respective proceedings. 
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2. As noted in QCC’s pending Request for Judicial Notice dated August 2, 2011, the 

Colorado Commission previously issued the Recommended Decision of Administrative Law 

Judge G. Harris Adams Partially Dismissing and Partially Granting Complaint in which the ALJ 

recommended that the QCC complaint against MCI in Colorado be dismissed with prejudice on 

statute of limitations grounds unique to MCI. 

3. The Colorado Commission subsequently issued an Order in which it, among other 

things, granted QCC’s Exceptions to the ALJ’s recommendation with respect to MCI and 

determined that QCC’s claims against MCI were timely.  See QCC’s pending Request for 

Judicial Notice dated November 18, 2011. 

4. On March 13, 2012, the Colorado Commission remanded the matter for 

determination of three issues.  As regards MCI, the ALJ was directed to  make “[f]indings 

regarding whether MCImetro unlawfully discriminated against QCC by subjecting it to any 

prejudice or competitive disadvantage for providing access to the local exchange network, in 

violation of § 40-15-105(1), C.R.S.”  If the ALJ found that MCI had violated Colorado law, he 

was directed to make findings about “appropriate reparations.” RD on Remand at ¶ 2. 

5. In remanding the matter to the ALJ, the Colorado Commission stressed that 

"MCImetro raised arguments to rebut QCC's complaint that are very different from arguments 

raised by all other respondent CLECs,"  i.e., "The 2004 contracts between MCImetro and AT&T 

were reciprocal and bilateral.  MCI contends that QCC was not similarly situated to AT&T 

because it was unable to enter into such a reciprocal arrangement and undertake the same 

reciprocal obligations to which MCImetro and AT&T had agreed.  This is 

because, inter alia, QCC does not (and is not legally able to) provide switched access 

service in Colorado."  RD on Remand at ¶ 12. 
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6. On Remand, ALJ Adams determined, among other things, that MCI unlawfully 

discriminated against QCC by “granting an unreasonable preferential and advantageous access 

service to an IXC other than QCC by departing from tariff rates while denying such preference 

and advantage to QCC.”   See RD on Remand at ¶ 40.    

7. The RD on Remand rejected MCI’s assertions with respect to its AT&T 

agreements and found: 

Without regard to implementation, the thrust of 
MCImetro's second theory is that QCC was not similarly 
situated to AT&T because QCC could not undertake the 
reciprocal arrangement. Aside from failing to file with the 
Commission, the attempt to distinguish customers by a 
combination of access with other tariff and off-tariff 
contract provisions was previously rejected. The substance 
of access agreements must prevail over form and access 
services cannot be obscured or obviated by inclusion with 
other terms. Creativity of those contracting for access, as 
segregated consistent with Section 40-15-105, CRS, cannot 
change the access service provided nor the unlawful pricing 
thereof.   RD on Remand at ¶ 27 (emphasis added). 

8. ALJ Adams further found that QCC was entitled to reparations for the “excess 

billed to QCC”   See RD on Remand at ¶ 40.2

9. MCI has filed Exceptions to the RD on Remand with the Colorado Commission.  

QCC’s Response to the Exception is due on July 25, 2012.3

10. In California, MCI has asserted essentially identical defenses to QCC’s claims in 

the instant proceeding.    See e.g., MCI Motion to Dismiss (January 15, 2009); see also MCI’s 

Response to QCC’s Post Pre-Hearing Statement (March 12, 2012). 

2 ALJ Adams further noted that MCI had charged QCC higher switched access tariffed rates in effect than 
that charged to AT&T for identical intrastate switched access services and failed to provide statutory notice of the 
agreement with AT&T. He also noted that MCI never filed the 2004 contracts with the Colorado Commission.   See 
RD on Remand at ¶ 20. 

3 QCC will provide notice to the Commission when the Colorado Commission rules on the MCI Exceptions. 
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11. Rule 13.9 states that the Commission may take official notice of “such matters as 

may be judicially noticed by the courts of the State of California pursuant to Evidence Code 

section 450 et seq.”  Section 452, subds. (a) and (c), of the Evidence Code provides that judicial 

notice may be taken of “[t]he decisional, constitutional, and statutory law of any state of the 

United States. . .” and “[o]fficial acts of the legislative, executive, and judicial departments of the 

United States or any state of the United States.” 

 WHEREFORE, QCC respectfully requests that the Commission, consistent with its 

general practice and the Rules of Practice and Procedure, take official notice of the RD on 

Remand attached hereto as Exhibit A. 

 Respectfully submitted this 17th day of July, 2012 in San Francisco, California. 

By:  /s/    
 Leon M. Bloomfield, Bar No. 129291 

    Law Offices of Leon M. Bloomfield 
1901 Harrison St., Suite 1620 
Oakland, CA 94612 
Tel:  510-625-8250 
Email: lmb@wblaw.net

and

Adam L. Sherr 
Associate General Counsel 
Qwest
1600 7th Avenue, Room 1506 
Seattle, WA  98101 
Tel:  206-398-2507 
Fax:  206-343-4040 
Email: adam.sherr@centurylink.com

Attorneys for Qwest Communications 
Company, LLC fka Qwest Communications 
Corporation
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